Precalc: Algebra 2 Unit 4 Name:
Lesson 5 Is This the End?

Board work
Consider the following functions.

fla) = 2° p(z) =2° + 2> — 4
h(z) = 2° — 42 +1 k(z) =z + 30
e) = 2 0= ()

(1 recommend doing the following problems in the numbered order.)
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. List the functions from

greatest to least based on
their output values when x is
very very large. (We say “as x
approaches infinity” or “as
T30 .
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Some of the functions are different now.

f(z) =2°
h(z) = —2° —4z? + 1

r(z) = —a°

6. List the functions from
greatest to least based on
their output values when x is

a very large negative number
(as z —+ —o0.)

n(x) = (i)x
K= -%°

h(x) = ""Xs—‘ Y2t l

p(x)= T B

k(¥ =-%x+30
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m (%) = - x4\
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4, List the functions from

greatest to least based on
their output values when
z=0.

(O)= 30
o) =1
n(0) = |
h(0) =1
v (0)=0-
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3(0) = =70
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5. List the functions from

greatest to least based on
their output values when x is
very very large (as £ — o0.)

f=2~
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Table work

For each function, give its function type (including what degree of polynomial,) its y-intercept, and its end
behavior.
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11.

A= (polynemial

function type: \W 0o d Q%R‘t' 1 )

f(e) = 3°

function type: e.;aponenh’a—[
f0y= |

as z — —oo, f(@) = O

as:r:—>oo,f($)"'"“9' oo

flz) = 223 +222 — 245

function type: degree 3 po luanbm‘od
f0)= 5

as ¢ — —oo, f(z) = o0

as ¢ — oo, (&) & — o2

8.

10.
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flz)=a*—16
function type: ?o\\jﬂbmio.l degree |
10)= ~{(,

2s z — oo, J(®) = o2

as ¢ — oo, f(z) = co

flx)=a3+2z> ~z+5

function type: dtﬂfte. 3 Fb\k&nbmfﬂ-\
f0)=5

- o

as r — —oo, f(z)

a:~:~m—>c>o,f(7’)““‘> e

f(z) =logy z
function type: [Dsw( ifamn
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13. f(2). 14, f(=);
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function type: 0\66(02. 5 Pb\\jm,m\' o.\ function type: o\eqﬂ&t 2 ?b\\-}ﬂbm“o‘\

o= -8 f0)=3 cwomh‘c.)
asa:—>—c>o,f(5c)_> — oo asm—>—oo,f(33)“*>_w '
as ¢ — oo, f(z) = o=@ as z — 00, f(Z) = — eo

15, f(z) = —(z = 3)(z — 3i)(z + 37)

function type: o\.e%fee. 5 ?b\\jnbmfa\ £(0)=- (0 '3) (0”3C) (0 '\‘SL)
50) = 2% = -(-3)(-31) (3)
as z — —oo, f(z) =+ ©2 = ~(-3)(-2 L9‘>
i de i =-(-3)(%)
= - (-2%)

= B3



